REAIR Thi%E L 1= hetls

RRREEXMIRtE 2 —

BABDODEX
[RES ] ORR
|
I =
< - [ EEH
. B | w—zsun
E=1 Y ?:;E
CsAnE | EEC T
EEaos
DY 5 % Sedndelig
) LPDY= | oy

RBRARTENGZEHAONTNHHENEIZOVNT, EDFADAE
E-mERLZRL-6. BFFEHESF =R RLEL,

HE
FEXRHEOCHREE, O—ASHEEBEOKRESIZENTLSTEH S
TI . AV RMTHIERRIFEEIDEFTHSH=H. KECIZfEL
PTUVVEHGEL TS EDEENFINET,
[IRIFERAIRTERAR] (B4 kg. cm?., om)
| M| | ARG AFHE)
= BE :

5
%% 6 W | 2566 | 83.3% (5./6)
i 8 B8 | 25.4

[EFDHERA]
wam  mgltllo] [1][2][3]me ssv
RAER /ol KELN 1.54
O—RE@A NS K=V 2.33
N">OEs  HEL ELy 0.54
BTEE EW LV 0.37
ExE  DH0 £V 2.30




